PYRAMID A

29700 KTM 1290 Superduke R Fly Screen Fiifing Instructions

Kit Includes:

1X C29700 Moulding

1X CFK29700 Bracket

2X CBOL0305 M8 X 40mm Bolis
2X CSPA0023 Spacers

3X CBOL0021 M4 X 16mm Bolis
3X CNUTO0110 M4 Anchor Nuts

® Aftach the bracket to the moulding as shown in Fig 1.

® Remove the OEM fork bolts and fit the fly screen assembly as shown in Fig 2.

M4 X 16mm Bolt
? M4 X 16mm Bolt

M4 X 16mm Bolt

d
I M4
Anchor
Nut

.
.

Anchor

M8 X 40mm Bolt

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

You

Follow us on social media and
feel free to leave us a review!




